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I. CHARACTERESTICS OF AN N-CHANNEL JFET. 

 

1- When 𝑉𝐺𝑆 = 0v ,   𝑉𝐷𝑆 = 0v 

 

2 -When 𝑉𝐺𝑆 = -0.5 ,   𝑉𝐷𝑆 = 0.5v 
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3 -When 𝑉𝐺𝑆 = -1 ,   𝑉𝐷𝑆 = 1v 

 

4 -When 𝑉𝐺𝑆 = -1.5v ,   𝑉𝐷𝑆 = 2v 

 

5 -When 𝑉𝐺𝑆 = -2 v ,   𝑉𝐷𝑆 = 5v 
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6- When 𝑉𝐺𝑆 = -2.5v ,   𝑉𝐷𝑆 = 15v 

 

**When 𝑉𝐺𝑆 = 10v ,   𝑉𝐷𝑆 = -1v 

 

II. A JFET AMPLIFIER 
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V Gain: 

 

   V input: 

 

V Output = 10.22 V 

Vin=2.34 

       𝐴𝑣 =
𝑉𝑜

 𝑉𝑖
 = 

10.22

2.34
 = 4.37 

      𝑍𝑖𝑛= 
2.34

2.664∗10−3
 = 8.78 ≅ 9 KΩ  

 

 

III. COMMON DRAIN AMPLIFIER. 
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Output and input voltages 

 

       Vi(t) = 0.2V  ,  Vo(t) = 0.156V 

        Av =
Vo

 Vi
 = 

0.156

0.2
  =  0.78 , the input and output in phase  

: 
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input and output current  

 

 

 

 

 

 

          Ii(t)= 20.599 u - -21.226 u = 41.825 uA p-p 

          Io(t) = 6.8653 u - - 7.126 u = 13.9913 uA p-p  

The input and output impedance : 

 Zi =  
Vi

Ii
 = 

0.4

41.825
 = 9.56 Ω 

 Zo =  
Vo

Io
 = 

0.2

13.9913
 = 14.29k Ω 

 

III. CONSTANT CURRENT SOURCE.  
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VL : 

 
 

     ID  : 

 

 

𝑹𝑳(𝑲Ω) 𝑰𝑫(𝒎𝑨) 𝑽𝑳(𝑽) 
0.1 0.04 14.96 

0.22 0.06 14.91 

0.33 0.1 14.87 

0.47 0.2 14.81 
0.56 0.21 14.78 

1 0.4 14.60 

1.5 0.5 14.40 
2 0.9 14.20 

3 1.4 13.81 
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